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lkekU; vè;;u ,oa lkekU; Kku&iz'ui=k&2
	 General Studies & General Knowledge–Paper-2	 (Total 200 Marks) 	
		  (Total 43 Questions)

	 			 (;wfuV&I)	 (65 vad)
			  Unit-I	 (65 Marks)

		 		 Hkkx&v	 vad% 20
				   Part-A	 Marks : 20

uksV% lHkh iz'uksa ds mÙkj nsaA fuEu iz'uksa dk mÙkj 15&15 'kCnksa esa nsaA izR;sd iz'u ds 2 vad fuèkkZfjr gSaA
Note: Attempt all questions. Answer the following questions in 15 words each. Each question carries 2 marks.

	 1.	 uhps nh xbZ la[;k  Ük`a[kyk esa ,sls fdrus 5 gSa ftuosQ Bhd igys osQ nks vadksa dk ;ksx mlosQ ckn osQ nks vadksa osQ ;ksx 
ls vf/d ugha gS\

	 	24593587652150503503	
		  Find the number of 5's in the following number chain such that sum of two digits before it is not greater than 

the sum of two digits that follows it.?
		  24593587652150503503
	 2.	 ,d d.k ,d o`Ùkkdkj pØ ,d feuV esa iwjk dj ldrk gS ijUrq og Øekuqlkj vk/k pØ ?kM+h dh fn'kk eas rFkk ,d 

frgkbZ pØ ?kM+h dh foijhr fn'kk eas pyrk gSA og le; Kkr dhft;s ftlesa og d.k ,d iwjk pØ djsxkA
		  A particle can complete a circular round in one minute, but it moves half round clockwise and one-third round 

anticlockwise successively. Find the time in which the particle will complete one round.
	 3.	 1 ls vf/d og NksVs ls NksVk iw.kk±d Kkr dhft;s tks ,d lkFk fdUgha dfri; iw.kk±dksa dk oxZ o ?ku gksA
		  Find the smallest integer greater than 1 which is simultaneously a square and a cube of certain integers.
	 4.	 ,d ledks.k f=kHkqt ABC esa dks.k B ledks.k gSA fl¼ dhft;s fd

	 	(AB)3 + (BC)3 < (AC)3

		  In a right angle triangle ABC, right angled at B, prove that
		  (AB)3 + (BC)3 < (AC)3

	 5.	 izFke n izkÑr la[;kvksa dk izlj.k D;k gS\
	 	 What is the variance of first n natural numbers?
	 6.	 ;fn A, B o C rhu ,sl leqPp; gSa fd dksbZ Hkh nwljs dk mileqPp; ugha gSA osu vkjs[k dk mi;ksx dj (A-C) ∩ 

(C-B) Kkr dhft;sA
	 	 If A, B and C are three sets such that none is a subset of other. Use the Venn Diagram to find (A-C) ∩ (C-B).
	 7.	 ;fn ,d fuf'pr owQV Hkk"kk esa "SHANTI" dks A981A4B09 fy[kk tkrk gS] "FORUM" dks 6A5A8B1A3 fy[kk 

tkrk gS rks mlh owQV Hkk"kk eas "BUILD" dks D;k fy[kk tk,xk\
		  If "SHANTI" is coded as A981A4B09, "FORUM" is coded  as 6A5A8B1A3 in a certain code language, then 

how will "BUILD" be coded in the same language?
	 8.	 fn;s x, fp=k eas Nk;kafdr Hkkx dk {ks=kiQy Kkr dhft;sA
	 	 Find the  area of the shaded portion in the following figure.

			 

4"

1"

1"
1"

1"
4"

4"

RAS/RTS Mains  2016



641, First Floor, Mukherjee Nagar, Delhi-09
Contact- 87501 87501 

Website: www.drishtiias.com, Facebook : https://www.facebook.com/drishtithevisionfoundation

2

	 9.	 fdlh ijh{kk esa mÙkh.kZ gksus osQ fy;s vf/dre vad dk 36% dh vko';drk gSA ,d fo|kFkhZ dks 94 vad izkIr gksrs 
gSa vkSj mls 14 vadksa ls vuqÙkh.kZ ?kksf"kr dj fn;k tkrk gSA vf/dre vadksa dh x.kuk dhft;sA

		  In an examination it is required to get 36% of maximum marks to pass. A student got 94 marks and was 
declared fail by 14 marks. Calculate the maximum marks.

	10.	 ,d bysDVªksfud midj.k izR;sd 60 lsd.M i'pkr~ ,d lhVh ctkrk gSA nwljk midj.k izR;sd 62 lsd.M i'pkr~ 
lhVh ctkrk gSA igyh ckj os nksuksa midj.k 10 a.m. ij lkFk esa lhVh ctkrs gSa] rks og 'kh?kzre le; Kkr dhft;s 
tc os ,d lkFk lhVh ctk,axsA

		  An electronic device makes a beep after every 60 seconds. Another device makes a beep after every 62 
seconds. They beep together at 10 a.m. for the first time, then find the time when they beep together at the  
earliest.

			  Hkkx&c	 vad% 25

			   Part-B	 Marks : 25

uksV% lHkh iz'uksa ds mÙkj nsaA fuEu iz'uksa dk mÙkj 50-50 'kCnksa esa nsaA izR;sd iz'u ds 5 vad fuèkkZfjr gSaA
Note: Attempt all questions. Answer the following questions in 50 words each. Each question carries 5 

Marks.

	 11.	 J, K, L, M, N vkSj O ,d ifjokj osQ lnL; gSaA lHkh lnL;ksa osQ O;olk; fHkUu gSaA ;fn%

	 (i)	 ifjokj esa nks fookfgr ;qxy gSaA

	 (ii)	 'M' ,d fpfdRld gS vkSj mldh iRuh ,d bathfu;j gSA

	 (iii)	 'J', 'O' dh ikS=kh gS o 'L' dh cgu gSA

	 (iv)	 'K', 'L' osQ nknk gSa o budh 'kknh ,d vè;kfidk ls gqbZ gSA

	 (v)	 'L' ,d DyoZQ  gS o mldh ekrk 'N' gSA

	 	 rc 'M' dh iRuh dkSu gS\	 	
		  J, K, L, M, N and O are the members of a family. Professions of all members are different. If.

		  (i) Family has two married couples.

		  (ii) 'M' is a doctor and his wife is an engineer

		  (iii) 'J' is grand daughter of 'O' and sister of 'L'.

		  (iv) 'K' is grand father of 'L' and is married to a teacher.

		  (v) 'L' is a clerk and his mother is 'N'.

		       Then , who is the wife of 'M'?	
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	13.	 N rhu vadksa dh 7 osQ xq.kt dh dksbZ la[;k gks rks mlosQ 5 osQ Hkh xq.kt gksus dh D;k izkf;drk gS\
		  N is a three digit number that is a multiple of 7, what is the probability that it will be a multiple of 5 also.
	14.	 1000 ls vf/d u gks] og lcls cM+h iw.kk±d la[;k D;k gksxh ftls 5 ls foHkkftr djus ij 'ks"kiQy 3, 7 ls foHkkftr 

djus ij 'ks"kiQy 5 rFkk 9 ls foHkkftr djus ij 'ks"kiQy 7 jgrk gS\
		  What is the largest integer not exceeding 1000 which leave remainder 3 when divided by 5, remainder 5 

when divided by  7, and remainder 7 when divided by 9?
	 15.	 Jheku X us nks ;kstukvksa A vkSj B esa /u fuos'k fd;k tks Øe'k% 5% vkSj 10% izfro"kZ pØo`f¼ C;kt iznku djrh 

FkhA ;fn nks o"kks± osQ ckn nksuksa ;kstukvksa }kjk oqQy vftZr C;kt dh jkf'k ` 2075 Fkh rFkk oqQy fuos'k fd;k x;k /u 
`15,000 FkkA ;kstuk A eas fuos'k dh xbZ jkf'k Kkr dhft;sA
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		  Mr. X invested money in two schemes A and B offering compound interest 5% and 10% per annum respectively. 
If the  total amount of interest accrued through both schemes together in two years was `2075 and the total 
amount invested was `15,000. Find the amount invested in scheme A. ?

			  Hkkx&l	 vad% 20
			   Part-C	 Marks : 20

uksV% lHkh iz'uksa ds mÙkj nsaA fuEu iz'uksa dk mÙkj 100&100 'kCnksa esa nsaA izR;sd iz'u ds 10 vad fuèkkZfjr gSaA
Note: Attempt all questions. Answer the following questions in 100 words each. Each question carries 

10 marks.

	 16.	 nks uy A vkSj B ,d Vadh dks Øe'k% 5 ?kaVs rFkk 20 ?kaVs eas vosQys Hkj ldrs gSaA ;fn nksuksa uy [kksy fn;s tk,¡ rks 
Vadh eas ,d Nsn osQ dkj.k bldks iwjk Hkjus eas 30 feuV vkSj vf/d yxrs gSaA

	 	;fn Vadh iwjh Hkjh gqbZ gks rks ml Nsn esa ls lkjs ikuh osQ fudyus ij Vadh dks [kkyh gksus esa fdruk le; (?kaVksa eas) 
yxsxk\

	 	 Two taps A and B can fill a tank in 5 hrs and 20 hrs respectively alone. If both taps are opened then it takes 
30 minutes more to fill the tank completely due to a  hole in the  tank. If tank is completely filled then how 
much time (in hrs) will it take to get tank empty due to drain water from hole?

	 17.	 ,d pquko esa ernkrk lwph eas ls 10% ernkrkvksa us viuk er ugha fn;k rFkk 60 ernkrkvksa us er i=k fjDr MkysA 
ogk¡ ij osQoy nks mEehnokj FksA fotsrk dks ernkrk lwph esa ls 47% ernkrkvksa dk leFkZu feyk rFkk mls vius izfr}anh 
ls 308 er vf/d izkIr gq,A ernkrk lwph esa ernkrkvksa dh la[;k Kkr dhft;sA

		  In a election 10% of the voters on the voter's list did not cast their votes and 60 voters cast their ballot papers 
blank. There were only two candidates. The winner was supported by 47% of all voters in the list and got 
308 votes more than his rival. Find the number of voters on the voter list.

	 	 	     	 	      (;wfuV&II)					    (70 vad)
			  Unit-II	 (70 Marks)

		 		 Hkkx&v	 vad% 10
				   Part-A	 Marks : 10

uksV% lHkh iz'uksa ds mÙkj nsaA fuEu iz'uksa dk mÙkj 15&15 'kCnksa esa nsaA izR;sd iz'u ds 2 vad fuèkkZfjr gSaA
		  Note: Attempt all questions.  Answer the following questions in 15 words each. Each Question carries 

2 marks.
	 1.	 ,d gydh o ,d Hkkjh oLrq dk laosx leku gSA buesa ls fdldh xfrt ÅtkZ vf/d gksxh\
		  A light and a heavy body have same momentum. Which one will have greater kinetic energy?
	 2.	 ukfHkdh; inkFkZ dk ?kuRo ukfHkd osQ vkdkj ij fdl izdkj fuHkZj djrk gS\ D;k ijek.kq dk ?kuRo Hkh blh fu;e dk 

ikyu djrk gS\
		  How does the density of nuclear matter depends on size of nucleus? Does the density of atom also follows 

the same rule?
	 3.	 twy&FkkWelu izHkko ls vki D;k le>rs gSa\
		  What do you understand by "Joule-Thomson effect"?
	 4.	 ^Msaxq cq[kkj* osQ dkjd tho rFkk blosQ okgd dk uke fyf[k;sA
		  Write the name of causal organism and vector of 'Dengue fever'.
	 5.	 N=k iztkfr;k¡ D;k gSa\ N=k iztkfr dk ,d mnkgj.k nhft;sA
		  What are umbrella species? Give an example of umbrella species.

			  Hkkx&c	 vad% 20
			   Part-B	 Marks : 20

uksV% lHkh iz'uksa ds mÙkj nsaA fuEu iz'uksa dk mÙkj 50&50 'kCnksa esa nsaA izR;sd iz'u ds 5 vad fuèkkZfjr gSaA
Note: Attempt all questions. Answer the following questions in 50 words each. Each question carries 5 marks.
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	 6.	 xzgh; xfr osQ osQIyj osQ fu;eksa dks fyf[k;sA

		  Write Kepler's law of planetary motion.
	 7.	 is; inkFkZ osQ uewus eas gkbMªkstu vk;u dh lkUnzrk 4.0 × 10–3 M gSA bldk pH D;k gksxk\ (log102 = 0.301)
		  The concentration of Hydrogen ion in a sample of soft drink is 4.0 ×10–3 M. What is its pH ? (log102 = 0.301).
	 8.	 vkuqoaf'kdr% vfHk;kaf=kr bUlqfyu ij fVIi.kh fyf[k;sA

		  Write a note on genetically engineered insulin.
	 9.	 ,d ikfjfLFkfrd ra=k osQ fofHkUu iks"kh Lrjksa dks lwphc¼ dhft;s rFkk izR;sd iks"kh Lrj osQ mfpr mnkgj.k nhft;s\

		  Enlist various trophic levels in an ecosystem and give suitable example of each trophic level.?

			  Hkkx&l	 vad% 40
			   Part-C	 Marks : 40

uksV% lHkh iz'uksa ds mÙkj nsaA fuEu iz'uksa dk mÙkj 100&100 'kCnksa esa nsaA izR;sd iz'u ds 10 vad fuèkkZfjr gSaA
Note: Attempt all questions. Answer the following questions in 100 words each. Each question carries 

10 marks.

	 10.	 lapkj fudk; ls vki D;k le>rs gSa\ lapkj fudk; dk CykWd fp=k nsrs gq, blosQ vo;oksa dks le>kb;sA
		  What do you understand with communication  system? Give  block diagram of communication system and 

explain its elements.	
	 11.	 Bksl osQ cSaM fl¼kar osQ vk/kj ij pkyd] v¼Zpkyd o oqQpkyd eas Hksn dhft;sA

		  Distinguish between conductor, semi-conductor and insulator on the  basis of band theory of solid.
	 12.	 Ekkuoksa esa xq.klw=kh fodkj D;k gksrs gSa\ bl izdkj osQ fdUgha nks fodkjksa osQ dkj.k o y{k.k fyf[k;sA

		  What are chromosomal disorders in human beings? Write causes and symptoms of any two such disorders.
	 13.	 jktLFkku ljdkj osQ i'kqikyu foHkkx }kjk pyk, tk jgs uLy lq/kj dk;ZØe dh foospuk dhft;sA

		  Discuss the Breed Improvement Programme undertaken by the Department of Animal Husbandry, Government   
of Rajasthan.

	 			 (;wfuV&III) 	 (65 vad)
			  (Unit-III)	 (65 Marks)

		 		 Hkkx&v	 vad% 10
				   Part-A	 Marks : 10

uksV% lHkh iz'uksa ds mÙkj nsaA fuEu iz'uksa dk mÙkj 15&15 'kCnksa esa nsaA izR;sd iz'u ds 2 vad fuèkkZfjr gSaA
Note: Attempt all questions. Answer the following questions in 15 words each. Each Question carries 2 

marks.

	 1.	 mYdk >hysa D;k gSa\

		  What are the meteoric lakes?
	 2.	 vf/osQUnz D;k gS\

		  What is Epicentre?
	 3.	 Hkkjr osQ dkSu ls {ks=k 'khrdkyhu o"kkZ izkIr djrs gSa\

		  Which are the areas of India, receive winter rain?
	 4.	 jktLFkku osQ eq[; v/kfRod [kfutksa osQ uke fyf[k;sA

		  Write the names of major non-metallic minerals of Rajasthan.
	 5.	 lu~ 2011 dh tux.kuk osQ vuqlkj jktLFkku eas iq#"k ,oa L=kh lk{kjrk dh njsa D;k gSa\

		  What are the male and female literacy rates in Rajasthan as per Census-2011?
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			  Hkkx&c	 vad% 25
			   Part-B	 Marks : 25

uksV% lHkh iz'uksa ds mÙkj nsaA fuEu iz'uksa dk mÙkj 50&50 'kCnksa esa nsaA izR;sd iz'u ds 5 vad fuèkkZfjr gSaA
Note: Attempt all questions. Answer the following questions in 50 words each. Each question carries 5 

marks.

	 6.	 mÙkjh vesfjdk dh egku >hyksa dh vofLFkfr] uke ,oa egÙo dks la{ksi eas Li"V dhft;sA

		  Explain in brief the location, names and importance of the great lakes of North America.
	 7.	 Hkkjr dh 'Bshw' izdkj dh tyok;q dks Li"V dhft;sA

		  Describe the 'Bshw' type of climate of India.
	 8.	 Hkkjrh; ekulwu ij yk&uhuk osQ izHkko dks Li"V dhft;sA

		  Discuss the impact of La-Nina on Indian Monsoon.
	 9.	 jktLFkku esa bekjrh iRFkjksa osQ izdkj ,oa forj.k dks la{ksi eas le>kb;sA

		  Discuss in brief the types and distribution of building stones in Rajasthan.
	10.	 jktLFkku esa fyXukbV dks;ys osQ forj.k ,oa vkS|ksfxd mi;kssx osQ ckjs esa fyf[k;sA

		  Write about the distribution and industrial uses of lignite coal in Rajasthan.

	 			 Hkkx&l	 vad% 30
				   Part-C	 Marks :30

uksV% lHkh iz'uksa ds mÙkj nsaA fuEu iz'uksa dk mÙkj 100&100 'kCnksa esa nsaA izR;sd iz'u ds 10 vad fuèkkZfjr gSaA
Note: Attempt all questions. Answer the following questions in 100 words each. Each question carries 

10 marks.

	11.	 HkwxfHkZd le; lkfj.kh osQ foHkktuksa dks Li"V dhft;sA

		  Explain the divisions of Geological Time Scale.
	12.	 Hkkjr osQ rVh; eSnkuksa dks mi&foHkkxksa eas foHkkftr dhft;s rFkk mudh fo'ks"krkvksa dk o.kZu dhft;sA
		  Divide coastal plains of India into sub-divisions and explain their characteristics.
	13.	 jktLFkku esa Hkhy tutkfr osQ vkokl] vFkZO;oLFkk ,oa lekt dk o.kZu dhft;sA
		  Describe the habitat, economy and society of Bhil tribe in Rajasthan.
	


